1IMR - test - corrigé 8 avril 2025

Fonctions

Exercice 1.

a) f(z) =ax®+br+c f(z) =ax® +bx +c
D a+b+c=0 D at+b+c=-2
@ { da-2+c=3 @ { 4da+2b+c=3
€) a—b+c=-2 ® a—b+c=6
1- 4a—2b+c=3 1-@ 4a+2b+c=3
-1-O —a—-b—c=0 -1-O —a—-b—c=2
@  3a-3b=3 @  3a+tb=5
1@ a+b+c=0 1-O a+b+c=-2
-1-@® —a+b—c=2 -1-® —a+b—c=-6
® 2b =2 ©) 2b= -8
=b=1 =-® a=2 -0 ¢c=-3 |=2b=—4 @ a= - @O c=-1
= f(x):2x2—{—aj—3 = f(a:):3x2—4:v—1
Ay 4 Ay 3
bm= Ty (vt
g(x) = -4z +h g(x) =3z +nh
1=-8+h = h=9 2=-3+h = h=5
= |g(x)=—4z+9 = g(x)=3z+5
20%4+x—3> —dr+9 & 22%2452—12>0 | 322 —4x—1>32+5 & 322—-Tr—6>0
& (2x-3)(x+4)>0 & (Bx+2)(x—3)>0
= |8 =] — 00; —4] U [3; +oo] = |8 =] — 00; —2] U [3; +o0]
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Exercice 2.
_(r— 122z — 1)
1) = =5e 9

ED(f) =R - {-4;5}

T —o—4 21 5 4o T —oo =2 —1 2 4 4o
fw |- l+o-0-]+ fla) | = +0—0+0-
Exercice 3.
a) ED =R — {-3;3} ED =R" — {5}
522 +2  (bx —4)(z +3) 222 +1 2z + 1)z
x?2 =9 x?2 =9 x? — 5z x? — bx
5z 42 — 5a? — 11z + 12 202 +1—22% —x
= >0 >
x2—9 x? — 5
—1lz+ 14 —r+1
—F >0 >0
2 -9 x? —bx
x |- =3 T 3 4 x| 0 1 5 4w
-0+ | - -0+ | -
= | S =] — 00; —3[U]14; 3] = |8 =] — 00; 0[U]L; 5]
b) ED =R — {—4;4} ED =R — {-6;6}
z(x —T7)(x+2) <0 z(z —3)(xz —5) 0
(x —4)(x+4) — (x —6)(z + 6)
T -0 —4 =2 0 4 7 +oo x -0 —6 0 3 ) 6 +oo
f@) | = +0—-0+ + f@) | =1 +0-0+0- |+
= |S =] — o0; —4[U[—2; 0]U]4; 7] = |S =] — 00; —6[U[0; 3] U [5; 6]
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Exercice 4.
14 4
12 1
10 1
8 +
6 4
4 4
2 +
-8 —6 —4 2 6
y = f(x)
_2 4
Isc - Burier page 3 sur 4



1IMR - test - corrigé 8 avril 2025

12 1

10 1

Isc - Burier page 4 sur 4



